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=2 25,545,277 14,361,142 11,184,135
7| 168,856 166,976 1,880
[= 3,197,134 1,444,697 1,752,437
Al 14,635,602 12,740,344 1,895,258
XN&EItss sgogrxs 38,850,370 25,114,587 13,735,783
=2 25,222,313 14,253,178 10,969, 135
J| 41,300 79,731 A 38,431
[ 2,525,480 1,212,685 1,312,795
Al 11,061,277 9,568,993 1,492,284
AEdsdZuaAs 5,857,085 6,584,852 AT27,767
=2 896, 187 1,452,483 A 556,296
[ 770,209 676,320 93,889
Al 4,190,689 4,456,049 A 265,360
ReAsAdoHX =& (XA 15,888 22,004 A6,116
201 LBt 5,096 5,364 N 268
01 At 2t2lH 5,096 5,364 A 268
OHSASAYME BENZ HME
2 X2,656,0002 2,656 2,924 N 268
202 04l 3,762 3,960 A 198
01 2U oyl 3,762 3,960 A 198
Olgd=sd =x ot 23X 3,582,000 3,582 3,780 A 198
203 YR FXH 950 1,000 AB0
03 Al =& AR EAH| 950 1,000 AB0
Oretd =8 gRF4 a3 950,000& 950 1,000 AB0
206 24l 4,400 10,000 A5,600
01 XH2Hl 4,400 10,000 A5,600
OrlstdsngE 288 23+7Y
A 4,400,000 4,400 10,000 25,600
AMANSZS(EE)ZIGH SHAI (AL EY]) 450,000 450,000 0
=2 250,000 250,000 0
[ 60,000 0 60,000
Al 140,000 200,000 A60,000
402 DIZIXHE=0| & 450,000 450,000 0
=2 250,000 250,000 0
[ 60,000 0 60,000
Al 140,000 200,000 260,000
02 QIR 2AMAE X (0 ML) 450,000 450,000 0
Os48 3 AI&&H XN&
A 450,000,000 450,000 450,000 0
=2 250,000 250,000 0
[ 60,000 0 60,000
Al 140,000 200,000 A60,000
ASASEBS(EY)ZIM SHAMNG(ALE) 0 27,000 A 27,000
=2 0 15,000 A 15,000




SN ASFSYD
Bu: 20hse sIMEY
el HBASAZYAY (ol @)
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2
Al 0 12,000 A 12,000
402 RI2EX20| A 0 27,000 A 27,000
= 0 15,000 A 15,000
Al 0 12,000 A 12,000
02 U TEALEZ(0IETHR) 0 27,000 A27,000
OsuYH DS A4g X 3 o 0 27,000 £27,000
= 0 15,000 A 15,000
Al 0 12,000 A 12,000
H SR8 48 3= 415,142 450,000 A 34,858
308 XXIELHSOIA 415,142 450,000 A 34,858
10 I 2 SO0ICHetE & X 2 E AL I 415,142 450,000 A 34,858
Ol 228 && 22 ZE 415,142,000 415,142 450,000 A 34,858
detdsits s HE XNE 610, 155 504,855 105,300
< 135,590 112,190 23,400
Al 474,565 392,665 81,900
301 LeHBAF 610,155 504,855 105,300
< 135,590 112,190 23,400
Al 474,565 392,665 81,900
12JEEd=s 610, 155 504,855 105,300
OHBPSHE ABL4R
& & 599,655,000 599,655 494,355 105,300
< 133,490 110,090 23,400
Al 466,165 384,265 81,900
A (DI EE D=8 @RS 0 2,403 A 2,403
201 L Er2A | 0 760 AT760
01 At 22l bl 0 760 AT60
OX 2l 2 Bt B4 S HE
33 0¥ 0 760 AT60
301 LA F 0 1,643 21,643
09 #HALAHIXI &3 0 1,643 A1,643
OF 2UJI 2 BHIl St 24  FH 0 0 1,643 A1,643
dEd H e AAH K& 27,000 44,000 A 17,000
301 EEd = 27,000 44,000 A 17,000
12JEEd= 27,000 44,000 A 17,000
OrEd B otdd ZAtH &F 27,000,000 27,000 44,000 A 17,000
datdsstE 22 Al XE 3,000 6,000 A 3,000
=) 1,500 3,000 A 1,500
Al 1,500 3,000 A 1,500
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01 ArR2t2lHl 3,000 6,000 A 3,000




2N HEZSYD
HE: NSIsE SYI|UEs
Sl AEFSAAYHAG (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
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Al 1,500 3,000 A 1,500
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Al 302,750 236,250 66,500
402 DI T 20| | 432,500 337,500 95,000
< 129,750 101,250 28,500
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Oz gEI Y X &
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ONSBSAGT EBHYB HEZI| &3
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Al 88,398 155,460 AB7,062
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A& 19,000,000% 19,000 20,000 A1,000
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2 346,987 677,280 330,293
= 17,349 33,860 A16,511
Al 69,398 135,460 66,062
12 J1EH2 &3 433,734 846,600 ~412,866
O&=0i Et=2 T X®  AH 433,734,008 433,734 846,600 A412,866
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= 17,349 33,860 A16,511
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Ypm FHASAS 10l N 518,400 740,406 A222,006
2 259,200 370,203 A 111,003
Al 259,200 370,203 A 111,003
307 £12+0I & 518,400 740,406 A222,006
2 259,200 370,203 A 111,003
Al 259,200 370,203 A 111,003
02 QIAFMAYEE 518,400 740,406 A222,006
oYM HASAS 140l N
2E 518,400,0002 518,400 740,406 A222,006




AN dETsg
g NHotss sgilexd
CHel AT sABAY S (crel@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
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= 0 100,000 A 100,000
Al 0 100,000 A 100,000
402 212t A= 01 & 0 200,000 200,000
= 0 100,000 A 100,000
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02 RIZt X2 AL EZ (OIS ) 0 200,000 200,000
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= 0 100,000 100,000
Al 0 100,000 100,000
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= 0 6,619,820 26,619,820
301 LEeBAF 0 6,619,820 A6,619,820
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12JEEd= 0 6,619,820 A6,619,820
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= 0 6,619,820 A6,619,820
gsgA=S 0 1,796,400 A 1,796,400
= 0 1,796,400 A 1,796,400
301 LEtEH S 0 1,796,400 A 1,796,400
= 0 1,796,400 A 1,796,400
12JEEd= 0 1,796,400 A 1,796,400
OesgHENEMNY SIHEY 33 03 0 1,796,400 A 1,796,400
= 0 1,796,400 A 1,796,400
TAHECEEZ 0 441,350 A 441,350
= 0 353,080 A 353,080
= 0 17,650 A 17,650
Al 0 70,620 AT0,620
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=) 0 17,650 A 17,650
Al 0 70,620 AT0,620
12IJIEBE43 0 441,350 A 441,350
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= 0 353,080 A 353,080
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< 78.882 66,934 11,948
Al 184,059 156, 180 27,879
06 283 262,941 223,114 39,827
Ose0l ot®=3 N8  FH 262,941,0008 262,941 223,114 39,827
= 78,882 66,934 11,948
Al 184,059 156, 180 27,879
SX2 WH2E2 N 1,185,048 658,247 526,801
= 395,016 219,416 175,600
Al 790,032 438,831 351,201
307 9I2+0| ™ 1,185,048 658,247 526,801
= 395,016 219,416 175,600
Al 790,032 438,831 351,201
06 283 1,185,048 658,247 526,801
OsX2 WH=2s NY ZF 1,185,048,0008 1,185,048 658,247 526,801
= 395,016 219,416 175,600
Al 790,032 438,831 351,201
20184 B B2E TUK| 2 111,747 111,356 391
= 43,647 33,407 10,240
Al 68, 100 77,949 £9,849
308 XX €1 S0 & 111,747 111,356 391
= 43,647 33,407 10,240
Al 68, 100 77,949 £9,849
10 BIIRSOICHEH S & X SIS A b 111,747 111,356 391
O 233 % XN ZF 111,747,0008 111,747 111,356 391
= 43,647 33,407 10,240
Al 68, 100 77,949 £9,849
ToINER BIH N 79,731 79,731 0
2 79,731 0 79.731
p] 0 79,731 ~79,731
101 21248l 24,340 24,340 0
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p] 0 24,340 £24,340
VSR EESETPS 24,340 24,340 0
OTAXEHAY =W 22y
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2 24,340 0 24,340
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201 L2yl 55,391 55,391 0
2 55,391 0 55,391
p] 0 55,391 55,391
01 Ak 22l 55,391 55,391 0
OTAXEH SAE 25 L 2|
23 55,391,009 55,391 55,391 0
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= 55,391 0 55,397
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FIA I 2® MR 2yl 41,300 0 41,300
o] 41,300 0 41,300
201 Lyt HH| 41,300 0 41,300
o] 41,300 0 41,300
01 Ak 2 el 41,300 0 41,300
OOFTAIIH2 & HEH ANSSE 7Y
4,130,000%103! 41,300 0 41,300
o] 41,300 0 41,300
M oYM X 2,442,982 0 2,442,982
= 977,193 0 977,193
Al 1,465,789 0 1,465,789
301 YBHEHB 2,442,982 0 2,442,982
= 977,193 0 977,193
Al 1,465,789 0 1,465,789
12 JIEt2 43 2,442,982 0 2,442,982
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= 977,193 0 977,193
Al 1,465,789 0 1,465,789
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= 61,575 0 61,575
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2 19,722,000 0 19,722,000
301 YBHEHD 19,722,000 0 19,722,000
2 19,722,000 0 19,722,000
12 JIEH2 43 19,722,000 0 19,722,000
OZANEM St 4
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OYLEE U KHIR 22  FH 659,234,008 659,234 660,000 AT766
SUBPRH U S0 ALYRS 303,752 309,742 A5,990
2 5,940 5,940 0
= 26,998 26,998 0
Al 270,814 276,804 £5,990
EZsNE BESY 10,950 16,940 A5,990
201 Lyt FH| 950 1,000 A0
01 Ak 2 el bl 950 1,000 A50
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307 £12+0| & 0 5,940 5,940
12 Q12toI 9l & DR 0 5,940 5,940
OEZZEX M=o J2ns 33 02 0 5,940 £5,940
DAS B2 S8 SUFYY 23 4,375,636 3,465,593 910,043
2 322,964 107,964 215,000
J| 127,556 87,245 40,311
= 671,654 232,012 439,642
Al 3,253,462 3,038,372 215,090
Nessxe 54 2,338,693 1,955,682 383,011
2 81,296 66,296 15,000
p] 23,300 23,300 0
= 379,019 46,874 332,145
Al 1,855,078 1,819,212 35,866
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202 01t 1,155 1,620 465
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AH 1,155,0008 1,185 1,620 465
301 LU BHD 0 900 A900
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OYsZEY(HH)DS L SAX A
33 02 0 900 A900
HEADp4 MAAE(OITH) X2 A 200,300 202,520 ~2,220
202 01t 300 1,620 A1,320
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301 YA 0 900 A900
09 SAHAHIXI# 3 0 900 £900
OYsXeHe S BHUX LK At
33 o 0 900 A900
B MEsIY X 131,541 136,000 A4,459
402 DI X2 0| & 131,541 136,000 A4,459
B ENEEEISETES 131,541 136,000 A4,459
O+ M3 Tyl KUY AF 131,541,0008 131,541 136,000 ~4,459
OIATHEY MAEX F& 39,605 40,000 £395
402 912t T2 0 H 39,605 40,000 £395
01 QIR 2 A S (RHH T2 ) 39,605 40,000 £.395
OQMTHE MAESXES  HF 39,605,008 39,605 40,000 £395
OIMNS sHS I =70 X 322,800 0 322,800
= 322,800 0 322,800
302 01 =L THoH 2 & 2 322,800 0 322,800
= 322,800 0 322,800
02 AATALR P EE L4 322,800 0 322,800
OOMNE s=2 I =228 N (J2H)
322,800, 0002 * 14! 322,800 0 322,800
= 322,800 0 322,800
20208 DpAML U BHEH AL, FH K 31,150 0 31,150
= 9,345 0 9,345
Al 21,805 0 21,805
402 912t 0 & 31,150 0 31, 150
= 9,345 0 9,345
Al 21,805 0 21,805
02 SI2EXHE A E X (OIETH ) 31,150 0 31,150
O D4 o B AL ZH X
15,575,000 %435 *50% 31,150 0 31,150
= 9,345 0 9,345
Al 21,805 0 21,805
DAR(H) HBE WX 37,500 0 37,500
2 15,000 0 15,000
Al 22,500 0 22,500
307 £I2+0I & 37,500 0 37,500
2 15,000 0 15,000
Al 22,500 0 22,500
02 Sl FAAYEE 37,500 0 37,500
ODAE B8 +UHX
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2 15,000 0 15,000
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DAS HUNSH S5 1,139,442 1,106,582 32,860
= 41,668 41,668 0
o] 30,436 43,565 A13,129
= 184,941 152,924 32,017
Al 882,397 868,425 13,972
ICT 828 S 65,073 32,823 32,250
| 0 3,129 A13,129
= 37,742 5,908 31,834
Al 27,331 13,786 13,545
402 212 X201 & 65,073 32,823 32,250
Jl 0 13,129 A13,129
= 37,742 5,908 31,834
Al 27,331 13,786 3,545
02 AT EALZE(OIHR) 65,073 32,823 32,250
OICTE=E SHAAY(ANES NE=2I)
33 65,073,002 65,073 32,823 32,250
| 0 13,129 A13,129
= 37,742 5,908 31,834
Al 27,331 13,786 3,545
20208 B&B J1 X A3 NAL(0HS) 610 0 610
< 183 0 183
Al 427 0 427
308 XX € HI SO & 610 0 610
= 183 0 183
Al 427 0 427
10 201 2SOl CHEHE & X 2| EF AL 610 0 610
O O 712 2 4208 X& 1,250 ~488m 610 0 610
= 183 0 183
Al 427 0 427
FTAJIZ BH4oler £4 251,390 120,550 130,840
o] 73,820 20,380 53,440
= 47,694 32,214 15,480
Al 129,876 67,956 61,920
T wAAE BB KB (FTAIIZ NS XS5 179,950 50,950 129,000
o] 71,980 20,380 51,600
= 21,504 6.114 15,480
Al 86,376 24,456 61,920
402 8124 T 0] H 179,950 50,950 129,000
o] 71,980 20,380 51,600
= 21,504 6.114 15,480
Al 86,376 24,456 61,920
02 AT EALEE(OIHTHR) 179,950 50,950 129,000
OD4MAAE S H3HALES
A 179,950,0002 179,950 50,950 129,000
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FTA AtRIOiI 2l 22 (22 1,840 0 1,840
o] 1,840 0 1,840
307 212+0| & 1,840 0 1,840
o] 1,840 0 1,840
02 SIABMMARE 1,840 0 1,840
OFTAM I & + & (2H|)
2,300, 000+80%+ 174 4 1,840 0 1,840
o] 1,840 0 1,840
DHA MOl S 646,111 282,779 363,332
2 200,000 0 200,000
= 60,000 0 60,000
Al 386,111 282,779 103,332
S0l R =M0A HESY 37,274 50,000 ~12,726
402 212t T2 0| & 27,274 40,000 A12,726
B ENEEEISETEY 27,274 40,000 ~12,726
Olla MNSSE X2 &5 AY
A 27,274,008 27,274 40,000 ~12,726
e Al HESS sS4 91,480 105,779 A 14,299
201 YEr2 | 810 3,800 £2,990
EEETT 810 3,800 £2,990
O Mass Mzw @J2  ZE 810,008 810 3,800 £2,990
301 YBEHB 0 900 A900
EENTEEE 0 900 A900
O KHAlsIH S R SFX A8 AF 0¥ 0 900 A900
402 912H T2 0] & 89,590 99,999 ~10,409
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S0 4M03Y 2 2D = 65,000 67,000 £2,000
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02 SIABMANSRE 15,000 7,000 £2,000
O &MA HEA BEHA
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HAZZ ZAM A 9,500 0,000 A500
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O HAZEZE BAR Al A
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2 200,000 0 200,000
< 60,000 0 60,000
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